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rchasing Power o

' evel P is measured in units of
per basket.

4@1 he price level rises, the purchasing
= power of a unit of money declines.

-~>‘= - purchasmg power of money,
abbrewated PPM, is defined as the
reciprocal of the price level, 1/P, in units
of baskets per dollar.
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lute price level at any given time is not as
g as changes in P that are observed
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FIS the price level is called price inflation (or
= just inflation).

-—*
.‘—

= Kdecllne is called price deflation (or just
- deflation).

A slowing of price inflation is called disinflation.
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%-;;price Index (CPI)
aroducer price index” (PPI)

= i "._’generally correlate well with each
- other
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ollection of goods and services
'ped to replicate the spending
tterns of consumers.

— The fu:ems in the CPI do not carry equal
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.. -f’welght but are assigned quantities that

- are supposed to represent the
allocation of a typical consumer’s
income.
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&o ‘measure the prices of all the
6] )ds and services produced in the entire
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r = al'economyl its "gross domestic
| {?oduct"
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- PPI
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Annual rates of change of three price indices
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f demand says that as the price of somethlng
people demand more of it, and this is true for

.: rchasmg power is its price, equal to the

bca‘l of the price level: PPM=1/P.

: 2 purchasing power of money declines (and the

;Emee Ievel rises) we want to hold more money, other
- things being equal.

We desire money only because we can buy things with it,
and we need more to acquire the same goods and
services when money’s purchasing power declines.
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f Demand for-Money"

Sire to acquire money to be spent
ately (or in the near future) is
lled transactlons demand.
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errey desired for expenditure later is a
- form of saving, and is called portfolio
demand.
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tlons Demand fo

\/ —

-b"

beople demand more money to hold
€ supply of goods and services
sreases, other things being equal. As
Ith Increases and if people want to
‘rd a constant proportion of their wealth

- = as money, then the amount of money they

want to hold must rise.



Ad Influence is the cost of ac
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Ine at
, people will keep larger amounts
N g :
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‘~ . low-income people who lack bank
— ’- and must rely on costly
_.ff.:feommeraal check-cashing businesses will

- keep larger amounts of cash relative to
their monthly expenditures.

1 CASHh rec ANAINA

1T ]

p—



o_'-.-

-

-
RN,

e-thW

'g electronic money...

system efficiencies reduce the
nd to hold money.
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ae of vertical

1 and somewat minor influence on
‘mand for money is the degree of

— After the acquisition, this same flow of
%:écods no longer required money as it
‘became simply a transfer of parts within

the newly integrated firm.

tical integration among business firms.

ion among busm§s' ——
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he most liquid form of savings — you can
_;’* |mmed|ately In case an emergency or
ected opportunity arises.

lone saved In @ bank or other institution may
_~“"-» arn interest, but the rate is usually low.

-"’ 'Oﬂe of the opportunity costs of holding money
s the higher interest you could probably earn on
less liquid forms of saving.




pportunity cost of. meney

"price or cost.
nd for a good or service depends in part
S price or cost.

! a t of holding money is an opportunity cost
= over time, because the alternative is investing
= fhose funds to earn interest,

-What one gets in return for giving up interest
Income is the liquidity that money provides.

Each of us balances the opportunity cost of holding
money with the value of that liquidity.
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T ore classification of reasons fwm 2
2 are three fundamenta ns as to
‘wWhy people demand money:
itory demand — the amount of money that you
e to settle transactions, since money is the
um of exchange.

"
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2) f-'rt}tionary demand — the amount of money required
= in the event of unexpected need as a precautionary

e

{g‘é’re of liquidity.
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- 3) Speculative demand — the amount of money required
for investment opportunities and / or luxury items.
People need money to reduce the riskiness of a portfolio
of assets by including some money in the portfolio,
since the value of money is very stable compared with
that of stocks, bonds, or real estate.
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= 1s the amount of money
,:f‘f‘that people desire to hold
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aand for ﬁoney,&__jpeé‘mea——

O monev. demanded bV pbeopile

Id change if their income increased.

would demand more money (at a
-'= level of interest rates) primarily
= because their transactions and

e
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n«,precautlonary demands would increase at
: - their new higher level of spending.

An increase in their wealth would increase
their portfolio demand for money.
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dther variables.

ﬂrms are also holders of money, in their
cash registers and bank accounts, for
essentially the same basic reasons as
households.
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1and for money can

ed by_gefello
Md k Px y

1ce the primary objective of money
nd IS expenditure - money demand is
3 function of expenditure (price x income)

.IS a part of money, wanted to be held by
people
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ome is zero then w
~for md"fey IS Z€ro:

e

unrealistic because money demand IS
red for survival (food).

re appropriate relationship for
—mor y demand could be:

f"’M d= a+ KxP xYy where

:?~a iS an autonomous component of money
demand that is independent of the income
level.



and for any good or serviceds e

lly p|ctured conomics as a function

a .ﬂ.-a ) aYeala

'S constant

se of holding money, the "price" is
2 0 portunlw cost of holding one dollar
o 1€ year, the interest rate.

-‘ n we plot the quantity of money

_ dﬁmanded on the horizontal axis and the

~ interest rate on the vertical axis we will
have a demand curve.
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haracteristics of Demand Curve

——

1l lty of money demanded is higher E the
5t rate is Iower

'se reIatlonshlp between the interest rate and the
d for money just reflects the fact that when the
ttunity cost of holding money is low, people will want
ofre of it, and when it is high people will want to
old le ss of it.

, ver low levels of the interest rate the quantity of money

=  demanded increases dramatically, meaning that people

- would then want to hold a very great amount of their
wealth in the form of money. Because the reward to
holding bonds is very small?

When the interest rate is very, very high, people will still
want to hold some money because it is even more costly
to revert to barter in making transactions.
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wealth will contribute to higher demand for money.
ough the pqgfglio motive. .

ould also roughly double in nominal terms over a

L]
vVAIch hominal thncome had aotlbled.

ty of money demanded at any given interest rate
‘much higher a decade later under our assumptions,
Ibly about twice its level a decade earlier.

ange in the demand for money depicted by shifting
=the demand curve to the right. In Figure the doubling of
==nominal incomes and wealth doubles the demand for

[ mene"y

.

10ney at any given interest rate.

—

~ For example, at an interest rate of 5%, the quantity of
- money demanded is $1,200 billion at the end of the
decade, while it was only $600 billion at the beginning of
the decade ago when nominal income and wealth were
half as great.
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and for @ney & Velocity

o
X%
t,' ¢

—

| 4- dollar spent is someone’s dollar
come an overall drop in the demand
:?_:?“f-=—ﬁ money can only translate into

= 'lrrcreased velocity, as we all spend faster.

“‘Therefore the demand to hold money varies
iInversely with velocity.




'* tor that influences the demand
y IS real output, v.

A\ there are more goods and services

— ava abie for purchase, we tend to hold
ﬁ, re money.
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in the purchasing power of money

., a rise in P) leads to more demand for
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: :-%.:.. e ﬁverage number of transactions (V )
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e the price level (P)
* the real output (Y)
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NS actions per year,
easured in dollars per year.
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Y baskets per year
’56 PY IS also in dollars per year.
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simple W

o -- ere € verson has the

' owment
s |n currency

-

'-"4 25 drawing pencil worth $4 each



Suppose the fo owmg transactions take p@e
1 wants a caleulator, so s s her W
rency to person 3 for the calculator

nvants the tickets so she takes the $100 in
from person 1 and gives it to person 2 for

h

_ 2 ‘who now has the $100, needs the
— dre Jng pencils and gives the $100 to person 4 for

;—'

‘-J‘

5—‘%1"3?176 pencils.

,’P_

" The total value of the transactions was:

$100 = (1 calculator) + $50 x (2 tickets) + $4 = (25
pencils) = $300




economy, the $100 in currenc

as and ggg;‘ed $.

tions.

s‘trsed

= (Times Used) = Value of Transactions
& x 3 = $300
’ vV Nominal GDP

‘f"i'\?é'rdciw of money - the number of times the
dollars were used.
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NiN= P — Price | evel ¥*Re-= DF

aI GDP = i G
| MV = PY

e quatlon of exchange says that the

54 juantity of money multiplied by its velocity

equals the level of nominal GDP written as

- the price level multiplied by real GDP.
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_ / theory of money states that
owth translates directly into

‘‘‘‘ hort run %AV = 0, %AY =0
“TTTUS %AM = %AP
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aquation explains why mone 1) S—
aed inflation in low-infla conomies

absorbed because
. ries are seeing real growth.

opose that a country has 5% money growth,
te int velocity, and 3% real growth.

‘ e equation of exchange can predict the

::.:::-3 la on rate. We find
— 5+ 0= %AP + 3

= %AP = 2

~ We would expect inflation to be 2% which is clearly
less than money growth.

/ Arowtn can beé bHa

-



B




: ply of Mong?‘-b—

) set by the central bank

_mber of currency units available to be
ered by a person for credit

Measured by total amount of money limited by
~—  central bank of a state.

"a‘— . .

= 'Depends on central bank’s decision.

Measured by amount of money which can be
offered by a person for credit.
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, ount of refinancing made by
€ rbank

== ‘.fw eI of wealth of the society
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N

"F -ansparency of enterprising

e | evel of bank credibility
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reserve ratlo) IS a central bank
lation that sets the minimum reserves
N C ommerC|aI bank must hold to

— cus omer deposits and notes.

| e reserve ratio is sometimes used as a

.' ‘tool in the monetary policy, influencing the
country's economy, borrowing, and
interest rates.
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c SUPPIY O Y U0OC -
ﬂa rate of interest, the supply curve
1oney simply can be depicted as a

aI line at the actual quantity of

-""-

The "prlce of money is the interest rate at
~ which the demand for money equals the
supply of money.



—— R

25

Intersection
of Demand
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and Supply
of Money
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the Interest
Rate
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lance of supply & d,gp:a-nd._—

he supp of oney is a vertical line at the =
y $300 billion, indicating that in this

1etical economy the central bank has set the
| «; ‘money at $300 billion.

Sup )ply of money is fixed at that quantity, and it
emaln there until the central bank decides to

%ﬁge It.

"’The quantity of money demanded is equal to the
~quantity supplied, $300 billion, at an interest rate of
10%. At that interest rate, people are content to
hold the quantity of money that is supplied by the
central bank.
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Nere |s no balance of 2R

- —_—
| est rate IS 9% instead of 10%. At an opportunlty cost of only
(] nl N NOId More Mone N A IAI f NE
NIty co 0%. As we see gure would want to -
e money than the central bank has actua supplied. In an
o increase their holdln% s of money to the level they desire,
0

would sell some of their bonds in order to increase their
ef money.

any y One economic agent can increase or decrease the quantity of

- ey that they hold, all economic agents taken together cannot

= Chal e the (}uantlw of money that they hold because the quantity

-~ of money is fixed

”‘E\i‘ ybody try to sell bonds to increase their holding of money - bond

y|eIds egin to rise. The interest rate is just the yield on bonds, we

- see that the interest rate would rise and it would continue to rise
until-it was back up to 10%. At that point the interest rate would
stop rising because people would be content to hold the quantity of
money that exists.
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__A Shift'in the Supply of Money ~

at the central bank boosts ts the mone?/
udaen rom $300 billion to $600 bil on In
ated by the shift in the vertical

me to the right.

d interest rate of 10%, agents wish to hold
00 billion, not $600 billion.

A erest rate of 5% the quantity of money
a 2 anded IS equal to the supply, $600 billion.

— Money is now much cheaper to hold because there
s much more of it available.

Fnally, at an interest rate of 5% the agents in this
economy are content to hold the $600 billion supply
of money.
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Bank Increases Suwljwﬁ:l‘ﬁerﬁ—

he central bz k buys onds in an open market

’ SUPDDPDIV O Jricy o AUISC
|ce or opportunlty cost of holding money to fall.

increasing the supply of money the central bank
the interest rate down, and by reducing the
pply Of money it can push interest rates up.

SOWer interest rates stimulate investment spending on new
=D ant and equipment by business and spending on
urable goods by households because the cost of

= borrowmg has fallen.

The result is higher production and higher employment, at
least until Prlces and wages adjust to the increase in
demand. It the central bank persists in more rapid
expansion of the money supply then inflation will
accelerate.




y.
| he central ban‘%" lIs bonds |t reduces the

“entral Ban Reduces Supply of

'* 1 this case hlgher interest rates.

'--rest rates mean that some investment
cts are not undertaken and some houses
are | ot built that would have been otherwise
’ ‘because loans are more costly. Demand for
_— goods in the economy then falls, and with it
~ production and employment. Inflation will
decline.
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klng sector. Equilibrium would
requ |re that money supply equals
money demand

- 2 < e ~-.
- — - e~ R e
" - - —— R e -
BN == - T —
" - — % —
- - -t
= ’ | S
o et ‘
R — i
gt —
- - —
-l



